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1. Write a Python program to combine two dictionary adding values for common keys. d1
={'a": 100, 'b": 200, 'c':300},d2 = {'a": 300, 'b": 200, 'd':400}
SOL
e CODE IN TEXT FORM

d1l=1{a": 100, 'b": 200, 'c': 300}
d2 ={"a": 300, 'b": 200, 'd": 400}

foriind2:
ifiindl:
di[i]=d1[i]+d2[i]
else :
di[i]=d2[i]
print(d1)

e CODE IN COMPILER

Language Python3 %

c:ll:
dif[ i ] dif 1 ] +d2[ i ]

coNOWUVT A WN

Cdifi]-d2[i]
[da1)|

©

OUTPUT
v 7 K| input
{'a': 400, 'b': 400, 'c': 300, 'd': 400}

...Program finished with exit code 0

Press ENTER to exit console.[]
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2.Write a Python program to find the highest 3 values of corresponding keys in a dictionary.

ALGO -
Frames Objects
Global frame dict
nlargest | imported function nlargest() "a" 500
my_dict .___”_»\ "b" 5874
three_largest \_‘ "e" 560
"d" 400
AN o 74
"F" 20

e CODE IN TEXT FORM —

from heapq import nlargest

my_dict = {'a":500, 'b":5874, 'c': 560,'d":400, 'e':5873, 'f': 20}
three_largest = nlargest(3, my_dict, key=my_dict.get)
print(three_largest)

e CODE IN COMPILER-

(MK > Fun | ©peous | msiop | La

1 heapq nlargest

2 my_dict = {'a':500, 'b':5874, 'c': 560,'d":
3 three_largest = nlargest(3, my_dict, key

4 (three_largest) |

00, 'e':5873
my_dict.get

OUTPUT
v S input
['b',

.. .Program finished with exit code 0

Press ENTER to exit console.]




